Lunch ordering for March is now open.

All orders must be placed and paid for by February 21st.

Be sure to read all of the notes BEFORE ordering.

If you have any questions, please contact Kristin Hurley at lunchquestions@medford-lakes.k12.nj.us



Lacrosse sign-ups are now open!!

Come join our team and have fun playing lacrosse with your middle school classmates.

Games begin the week of April 1st and continue through May 14th. We will be playing 2 or 3 games per week. Practices will start in early-March (weather depending). Practices will be more frequent at the beginning of the season and will tapper off as the games begin.

We do not anticipate needing tryouts but they may be necessary based on registrations.

To register please go to: www.Neetasports.org

Any questions please contact: Chris Perry at chrisperry.email@verizon.net

BOYS BASEBALL and GIRLS LACROSSE are now open for registration. Please register at www.neetasports.org

2019 Spring Medford Lakes Rec Softball Registration is OPEN!



Register now at

http://www.mlaasports.com

The MLAA recreation program is open to

Pre-K to 8th grade

(must be age 4 by April 1st)

Girls play against teams of local towns.

Typically practices or games are held twice a week in the evenings.

Teams will be offered at these levels:

Grades Pre-k to 1

Grades 2-3

Grades 4-5

Grades 6-8

Any questions please contact Fran Gaysek (732) 604-0716

OF

Sonya Brown (609) 876-6720



BOX TOP DOS AND DON'TS

- We do not get credit for expired box tops.
- by trim your box tops but leave the expiration date visible.
- send your box tops to the school as often as possible.
- to the collection sheets.
- DO write your child's name and their class on all collection sheets.

- DON'T staple your box tops to the collection sheets.
- Date must be clearly visible.
- DON'T turn in expired box tops. We do not get Credit if they are expired.
- or labels from other school fundraising programs.



©General Mills

Kids for Wish Kids Proudly Presents...

Jake Strong Magic Show Fundraiser All proceeds go to:

All proceeds go to:

Make-A-Wish.

NEW JERSEY



March 15th 7:00PM Shawnee High School Auditorium

Reserve Tickets Online At: https://www.jakestrongmagic.com/fundraiser

Please join us for the annual Saint Patrick's Day celebration!



Medford Lakes Country Club

Saturday March 16th

7-11pm

\$30/ticket, in advance or \$35/ticket, at the door

Please make checks payable to Medford Lakes
Girl Scouts

Dinner will be served 7-9

Cach Bar

Don't miss this great night of fun!
There will be a DJ, photo booth, games,
prizes & give-a-ways all night!
Festive attire is a must & you could win
the best dressed prize!

Please contact Kristin Hurley by emailing

<u>hurley213@verizon.net</u> or

Theresa Beal @ (856)840-5998

Please include your name if you text.



MEDFORD LAKES BOARD OF EDUCATION

44 Neeta Trail Medford Lakes, NJ 08055

Telephone: 609-654-5155 / Fax: 609-714-0235

http://www.medford-lakes.k12.nj.us

Nurture...Challenge...Support

Anthony V. Dent, Superintendent / Principal Neeta School Michael F. Colling, Business Administrator/Board Secretary Carole Ramage, Director of Curriculum / Principal Nokomis School Dr. Michael Lee, Director of Special Services

2018-2019 MILK ORDER FORM

tudent Name:			
eacher:			
OPTION (circle one):	1 2	2 3	4
Milk will be served beginn	ning on the fi	rst full day	of school.
Daily purchases can be n	nade for the	month of Se	eptember.
Please send money with you			
1.	Days in	Cost per	Amount
Month	Session Not served on 1/2 da	Milk	Due
*October (due 9/14		\$0.40	\$8.80
November (due 10/19		\$0.40	\$5.60
December (due 11/16	6): 14	\$0.40	\$5.60
January (12/14): 20	\$0.40	\$8.00
February (due 1/18	3): 18	\$0.40	\$7.20
March (due 2/14	l): 18	\$0.40	\$7.20
April (due 3/15		\$0.40	\$6.00
May (due 4/12	/	\$0.40	\$8.40
June (due 5/17	,	\$0.40	\$4.00
* Beginning October 1st - Ending June 1			
2. QUARTERLY PAY			
		December:	\$20.00
		ry - March:	\$22.40
	A	pril - June:	\$18.40
3. BI-ANNUAL PAYN	MENT OPTIC	DN:	
	October	- January:	\$28.00
		ary - June:	\$32.80
4. ANNUAL PAYMENT OPTION:			\$60.80

Please make checks payable to "Medford Lakes Board of Education"

*Students absent for any reason will not be given credit or reimbursed Daily milk purchases will continue to be offered at a cost of \$0.40 each "Charging" milk will only be allowed on an emergency basis





FOR THE TOUGHEST JOB ONE EVER HAS... BEING A PARENT!

This highly advanced program provides skill-building sessions and fun family activities that will help:

- Parents
 - Encourage good behavior
 - Setting Limits
 - Protect against youth substance use
- Youth (ages 9-14)
 - Dealing with stress
 - Handling Peer Pressure
- Family
 - Build family communication



www.prevplus.org

MILITARY FAMILY NIGHTS PROGRAM

Perfect for families with children 9-14 years old Program Details



- 7-session program on Tuesday Evening 6-830PM
- Cinnaminson High School
- Dinner is provided from 6 to 6:30
- Free professional childcare/ children ages 3-8
- Gift Card Incentives for attendance up to \$150

TENTATIVE PROGRAM DATES

JANUARY 8,15,22,29 FEB 12,19,26

TO REGISTER or for more information contact Prevention Plus, Joe Conlin @609-261-0001 joeconlin@prevplus.org

